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1. What will be obtained by multiplying the A alone can finish a piece of work in 20
: ; ; 2 days while B alone can finish it in 25
e, et
diiEcencs: obfamed: by SubRwcHIE 3 days. Both work together for 5 days. Then
1 E leaves the work. In how many days can
from 9— 4507
9 o A alone do the remaining work ?
(a) 2250 (b) 2045 @ 11 (b) 13
e} 2540 (d) 2450 fe} 15 (d) 17
1, géﬁﬁsgmmwmaﬁ‘msﬂ A AT U B B 20 AT H A
N S ¢ g ST S ? FX HHal & Wald B Sdenl g9 DA @i
o ' 25 i & T &% wow B SE
(a) 2250 (b) 2045 e 5 27 od v € 5w B o
© 2540 (d) 2450 BreaR W o & W e @ A
2. %=%=~§- then, what is the value of aen fe R & #x g ?
ratio (C+A) :(A+Bf :(B+C)f? &) 11 (B 13
¢ 15 d) 17
fa) &4:25:49
b 5438 30 A can do a piece of work in 4 hours, B
(b T and C together in 3 hours and A and C
e} 64:55:49 together in 2 hours. In how much time
(d) 64:25:51 B alone can complete the work ?
10 hours ) 12 hours
2wk AB.E @ o " it
3 2 5 (¢} 8 hours (d) 24 hours
*:(A+B) :(B+CY FT A T E7 ;
(C+a):(A+B):(B+C) & A U &4 B 4 B H, B 7U1 ¢ Ferey
(a) 64:25:49 3 Hve H gon A SR c e 99 2
(o) 54:35:39 g2 H O PN Wa B B Aben o9
c) 64:55:49 T & fos w9y W QR Hon 7
(d) 64:25:51 (@) 10&W%E (b) 12 gve
3. Two numbers are in the ratio 1 : 3. If
4 goo
their sum is 240, then what is their ) 8% e
difference ? A man goes from A to B at the speed of
[&} 120 {b] 108 &80 lﬂ'ﬁfh and returns from H-htﬂ A at the
speed of 40 km/h. What is his average
g 198 (4) 96 speed for the whole journey ?
3, ® W= 1:3 @ o ¥ ) A @ 50 km/hr
@l TS 240 BN, W S W i A iandhe
foam & 7
(e) 45 km/hr
la) 120 (b) 108
(d) 55km/hr
fej 100 (d] 96
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U W A § B @@ 60 fdHlo Wi
T A AW AT E AT B YA TH
40 faefto wfty gver = nfa & <tear 81
ol ar @ few Swer siwd T
o e ?

(a) 50 fFdTo /HeT
b) 48 fadle /e
() 45 e /Her
(@ 55 f@ie /geT

A person goes from point A to point B at
the speed of 4 km/h and returns from
point B to point A at the speed of 6
km/h. What will be the ratio of the time
taken to reach from A to B and the time
taken to reach rom Bfo A ?

b) 2:3
d) 3:2

(] 5:3

(c)
e @ g A @ R B @@ 4
fafio / gver #1 iy T ST & =T 9
g B § g A 7F 6 f&0/ HvEl
# R W ded 81 A 9 B aF g
T B YW A TP I A T AT W
O 7 ' 7

(a)
le)

Simple interest on a sum of money is

e

5:3 (b) 2:3

2:1 {d) 3:2

equal to % of principal, and number of

years is equal to rate of interest. What 1s
the percentage rate of interest per
annum ?

(8] 2.5% (b) 5%

6] 7=% (d) 10%

B | =
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11.

11.
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£ o gl @ g, ufted e 9 e
2| = o T sX e 2 7

(a) 2.5% (b) 5%
fc) ?%% (d) 10%

Find the compound interest of Es.
125000 at 8% per annum for 9 months,
when the interest is payable quarterly.

(a) (b) Rs. 7605
(c) (d) Rs. 8052

125000 ®0 &1 8% aIfds g¢ ¥ 9 HE &
wmafy @9 W @, wEfs @
femret 29 81

fa) 7651 %0
c)
What is the value of {U.ﬁ +0.48 + D,ﬁ)
a)

[c)
(072 + 0.48 + 0.90) &1 W ww & 7

Rs. 7651
Rs. 8652

(b} 7605 T0

8652 %0 (d) 8052 %0

1.87 (b) 214

3.56 d) 412

a) 1.87 (b) 214
e} 356

A set of instructions in a sequential
manner telling the computer what to do
is called :

(a) (b) Compiler

(c) Program ({d} Key-Beard
HRYEY P, T BT 8, I8 a0 B forg
fea o e AdE (FR) @
set) ] PET oar B
ERieistd

WA

(d) 4.12

Instructor

(b) THETZER
(d) HI-aTS

la]
lc)
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Electronic components predominantly
used in first generation computers were

Magnetic drum
Transistor

(a)
(b)
[c] WVacuum tubes

d IC

yoe W B wRgeY A Y WY W
TOagITR ged WG s o

() FEIE FH (b)) FiORER
 faffegm (4 s

A source program is directly converted
to .exe file by which of the following ?

(=) (b) Interpreter

(e (d) Linker

Compiler

Assembler

= & 9 ffae g% @ wEm AW
A .exe FI5e A ulvafds swr 8 ?

(a) FETERTR (b) ¥R

(c) STEE (d) femv

Which protocol is commonly used on
internet to exchange files ?

a] Telnet (b} Gopher

(c} FTP (d} SP

BEW B Fg—agel 8 Fevie W
wHre: 6w A & Swan e
A 87

(@) TEE (b) TR

(c) THoloflo  (d) Todle

Which of the following command is used
to add hyperlink in a document ?

fa) Ctl+F {b) Ctrl + K

fc) Ctrl+B (d] Cirl+V

Uh TR ¥ EEERE Sed @ oy
1§ 9§ e Fare & g famar S
g7
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Cirl+ F
Ctrl+ B

(a) (b) Ctrl+K

()
The type of memory which is fast and
temporarily stores the data which are
immediately required for use is called
a8l

(a) HDD (b] ROM

ic) RAM (d) SSD

#41 @1 98 v W Oy & R ererd
W W @Ra gfon dfms! o wufea
vl B

(d) Ctrl+V

HDD
RAM

(a) (b) ROM

c)

A web page is primarily written in the
language

(d) SSD

(a) C++ (b) Python

fcij HTML d] Java

TF 98 U9 T conecnn TTET H
forar ST 21

fa) C+ (b) 9rEdH

(cj HTML (d) =mar

Every web page has an address
gssociated with it. This address is

known as

(a) URL (b) 1P

{c) TCP (d) Browser

& 99 U9 § WY U U el B 2
fa) URL (b IP

() TCP (d) ATEWR

A popular protocol for sending e-mail is

(a)
(c)

TCP
SMTF

(b) UDP
(d) HTML
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20.
20.

21.
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22,

gl Wi @ Y g oiiei Wieiatd
g

(&) TCP (b) UDP

() SMTP (d) HTML

MAC addressis .........ccccovinnee bits long.

(a) 24 (b) 48

(c) 124 (d) 64

HF (MAC) TRF e Rew @ grm &1
(a) 24 (b} 48

c] 124 (d) 64

Temporary storage area that

compensates for differences in data rate
and data flow between devices is known

(a) Bus (b) Channel
fc) Modem (d) Buffer

FTT HUSRY 87 W 99ExY] & 4
FTT S 3R ST7 YOTE $ SN o1 e
FH & I8 Heal &

(b) =e

(d) EHY

(@} &9

) i<

FTP stands for
{a) Folder Text Protocol

(b} File Transfer Push

(¢ Fixed Terminology Flacement

{d] File Transfer Protocol

FTP &1 edd &
(a) TieER TRT WIEIBiE

(b) HIEH TTAHY g9
) Treaas eI TH<

d) TEe ETEHT WEhe
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All the deleted files go to

{a) Recycle Bin

(b Taskbar

{c] Tool bar

(d) My Computer

Wl Recfie o ¢ wrgel Fer 3 o 2
() YreE@a faq

fc) TEEAR (d) HTE FEER

Which of the (following
operating system ?

(b) ETePAR

is not an

la) DOS (b) UNIX
(c) LINUX (d) MS-Office
fr=fefaT & 9 o9 dmfeT frem T8
g7
(a) =19

() Torea

(b) e
(d) THOTHO AT

The process of switching from one open
window to another is called

(&) Task switching (b System call

[e) Moving (d] None of these
TF A R W gEy sige fser ¥
R w7 @t withar S ot &

(a) ©r=s Rafgm  (p) s @i
(c) HfFT (d) 3T @iy FE

Direction (26-29) : Read the following
carefully and answer the

guestions given below it :

Six friends A, B, C, D, E and F are

gitting in a row facing towards Nerth. C is
sitting between A and E. D is not at the end.
B is sitting immediate right to E. F is not at
the right end.
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26. How many persons are there to the right
ofD?
(a] One (b} Two
(c) Three (d) Four
27. Which of the following pairs is sitting to
one sideof D ?
(a) FB (b) FC
() FE (d) AC
28. Who is sitting immediate left of C ?
) A (b) E
€ B (d) F
20. Who is at the right end ?
(a) A (b) B
fcj E (d) F

frdw  (26-29) : Prafefaa gEel @
graHEs u¢ et A Ry g weAl @

FR T ¢

e BN A, B, C, D, E 3R F ST @I
3R 48 @ U@ ufed # 48 1 C, A AR E
s dm DA S 21 BED &%
CUME Gl i B B

26. D% i IR from mfdm 8 7

(@) ww () =T
(c) M (d) =T
o7. ffafag 4 @ PF-W YR D & TP
Wy de1 & ?
(a) FB (b) FC
(] FE (d) AC
28, C & OIF 9Y NP HF 487 & 7
(a) A (b) E
e} B {d) F

(B-7)
101

29,

GET IT ON
Google Play

T N oY @ deT 7
(al A (b} B
() E (dy F

Direction (30-32) : Read the following

information and answer the questions given
below :

B is the mother of A. C, B's sister, has a

son D and a daughter E. F is the maternal
uncle of D.

30,

31.

32.

How is A related to D ?
(a) (b)
(¢) Maternal Uncle (d)
How is E related of F ?

(&) (b)
(c) (d)
How many nephews does F have ?

(&) (b] One

fe] Two (d) Three

fadsr (30-32) : Fr=fofies waN 18

Cousin Nephew

Brother
Bister Daughter
Wife

Niece

Nil

3R A fow v et @ e 9

B,A # #Af &) C, B A 98F, T & <

pEaRTs aT E & F, D ® AAE

30.

31.

32,

A, D ¥ fFa yor wefta & ?

(a) e =TS (b) =T
() A (d) g
E, F 9 f5 yor Haftg 8 ?
@) wET (b) ¥
(c) wTai [@ 9=
Fo a8 7

(a) TS W AR (b)) TP
() (@ =
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Direction (33-35) : In each of the
following questions, find out how many such
pairs of letters are there in the given word,
each of which has as many letters between
them in the word as is/are between them in
the English alphabet.

33. NECESSARY
{a] One (b} Two
[c) Three (d} Four
34. PREAMBLE
(a] One (b} Two
[c) Three (d) Four
35. ORIENTAL
(] One (b} Two
[c) Three (d) Four

ey (33-35) : F=folReg 3§ @ wd®
we % Ry My weE F quil & U9 fae o
£ e 4" sav € avf € oo & ee
quiaren # 7@ 99 B 7

33. NECESSARY
(a) B (b)
(c) T (d) =™
34, PREAMBLE
(@) T& (b) =
() T (@) IR
35. ORIENTAL
(&) TF (b) &
() T () FR
36. The loudness of sound depends upon the

(a)

velocity of sound waves in the
medium

(b) amplitude of the sound waves
(&)

(d)

frequency of the sound waves

frequency and velocity of the sound
waves

(O-8)
101

36,

37.

37.

38.

38.

39,

39,

- (b)

el @) wae R w@e @

Aeg # el aet @ AT O

A T B T O

gafs el & Aghy W

wafy el @ gy SR 9 W

is 0
Kelvin. In degree celsius (°C) unit,

which one of the following is the
absolute zero temperature ?

(a) 0°C
(e}
o Y AeEE 0 afeas #( fEl
Wfegaa (°C) A5@ & wwH I a9
frfafaa # 9 FR-—T 2 7

0°C

{a)
{bl
c)
()

The absolute zero temperature

(b) -100°C

-273.15°C  (d) -173.15°C

(a) (p) -100°C

(e)

Brine is an agqueous solution of

-273.15°C (d) -173.15°C

(a] MNaCl (b) NaOH
[c) NaHCO, [d} Na,COC,
waY] Wl (§137) e wery fGeas 87
(a) NaCl (b) NaOH
(c) NaHCO, (d) Na,CO,
Blood is a type of
[a) Epithelial tissue

Muscular tissue
c) Nervous tissue
(d) Connective tissue
YRl Ueh WehlR &1
(a) TUH Hoh &
b) U Haw €
(c) dfrse sas &
(d) WIS was €
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‘Lub-Dub’ sound is produced due to
action of :

()

Large intestine

{b) Lungs
{c) Heart
{d] Oesophagus

we-gg @A fousr fFgr & &
geg—~ Sl 8 ?

(a) TSI 3
(b) HHS
() =<4

(d) TTHEAE

Who was the Education Minister in the
first Cabinet of Independent India ?

{a)
{b)
(c)
d)
Wod NG & YUH #EEved H e q44
HI o 7

(a) T WO

TSR TooTATS Toe
AT LA FeA AATE
yrard e o

Which one of the following associations
was founded in London by Dadabhai
Naorgji in 1866 ?

Sarvepalli Radhakrishnan
Sardar Vallabhbhai Patel

Maulana Abul Kalam Azad

Acharya Narendra Dev

(b

fe)
(d)

{a) The Bengal British India Society
(b)
()

(d)

The East India Association
The British Indian Association

The Madras Native Association

(0-9)
101

42.

43,

43,

44,
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a4 1866 H TIGTHIE ARGl NI dwed ¥,

Hefafaa § @ o9 9y (WRen) &
W B T 7

T Imw fafew e W
7 & givenr vHifeeH

() 7 fafew segs TwIfe
d) T FEN AT gl

Who is presently the Secretary General
of United Nations Organisation :

(@)
(b)
()
(d)
adar ¥ Wy T @Y & el @
§7

(a)
(b)

Antonic Guterres
Amina J. Mohammed
Dennis Francis

None of these

fa) eI TR

(b} 3P Wo HiEwTE

(c) <% Wik

(d) 379 W R TE
Jelep La pass is located in
(@) Punjab Himalaya

(b) Sikkim Himalaya

() Kumaon Himalaya
(d) Kashmir Himalaya

Ter—a] 2Xf Fer afed & ?

(a) G fEATerE
(o) Tt ey
(c) TS e
(d) HEAR feHTeg
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Which one among the following is the
coral group of islands of India ?

(a) Andaman (b} Nicobar

{c) Barren

ffafag § ¥ 9 UF 9RG &1
vaTd B9-E & 7

(d) Lakshadweep

(a) STUEEE (b} FrEEm
(c) ®E (d) cETEN

Which one among the following is not a
Fundamental Right under the
Constitution of India ?

(a) Right to equality
(b) Right to freedom

{c) Right to citizenship

(d) Right against exploitation

WG @ wAiae B sna Aefefaa § 8
FA—w E Hifow (qe) sfer T8 8 ?
(@) WAHET T HEHN

(b) O @ AW

(c) AT & AEHER

(d v % Aeg after

The
enunciated by
during the

‘Basic Structure Doctrine’
the Supreme Court

was

la) Golak Nath case

(] Maneka Gandhi case

{c) Kesavananda Bharati case

(d) 8. R. Bommai case

yrTeE e g @RiE e
<ifag=) weuem =grare g few qe
@ aRM e fEEar T ?

48,

48,

49,

49,

S0,

50,
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(b) #F@ TN AT

(c) EEFTE AN AHAT
(d) U0 IR0 Y HHAT

Who among the following was not a
member of the Drafting Commitiee of
the Constitution of India ?

(a) B.R.Ambedkar

(b) K. M. Munshi

{¢) Krishnaswamy lyer

(d] M. K. Gandhi

=i ¥ 9 vRg @ WRwE @ e

WAl ®1 ge T8l o7 ?
(a) 0 WO FSHT
(b) @0 THO HIM

(c) FEMEH AR
(d) THO o TEN

Which one of the following is not an

ASEAN member ?
(8] Cambodia  (b) Laos
(e} Myanmar (d] Taiwan

f=forfa § § ®9—w1 U& ASEAN @
e AR B 7

la) FEIfEET (b) TR

(c) WIHAR (d) TrSa™

In the term GIS, ‘G’ stands for

(a) Google (b Geographic
e} Goodness (d) Geological

gsTEd o oo aftug?
(a) OIS (b) Frarmfs
() TEIH (@) Fraeforsa
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Directions (51-54) : Read the passage
and then answer the questions based on it
You are required to select your answers
based on the contents of the passage and
opinion of the author only.

PASSAGE

The debate about whether men are
stronger than women is often unclear
because the word “strong”™ may mean many
things. For example, men are generally better
at lifting heavy objects, striking forcefully,
and doing intense physical tasks. However,
women tend to live longer than men and
often have stronger resistance to disease,
They also often excel in tasks requiring
precision, such as those involving finger
coordination or working accurately over long
periods. So, it could be argued that women
are stronger in these respects. The truth is
that each gender is stronger in different
areas, and to argue otherwise is to
oversimplify the topic.

51. Why is the debate about whether men
are stronger than women unclear ?

(a)] Because both genders are equally
strong in all aspects.

{b) Because the word “strong® may
mean many different things.

(c] Because men are always stronger
than womern.

{d}] Because strength is only measured
by physical power.

52. According to the passage, men generally
excel at which of the following ?

(a} Living longer.
(b} Tasks requiring precision.

(¢} Lifting heavy objects and physical
labour.

[d) Resistance to disease.

GET IT ON
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53. What strength do women tend to have
over men, according to the passage 7

{a) They are better at lifting heawy
objects.

(b) They live longer and have stronger
resistance to disease.

[z} They can strike forcefully,

(d) They are stronger in physical
labour.

54. What is the main message of the
passage 7

{8} Men and women are equally strong
in all areas.

(b) All women are incapable of
running, jumping and doing
physical labour because they are
not strong.

(¢} Men and women are strong in
different ways, and the argument
about one being stronger than the
other oversimplifies the topic.

(d) Only physical strength should be
considered when comparing
genders.

Directions [55-59) : In the following
questions, out of the four alternatives, select
the word nearest in meaning to the words
given,

55. Vitriolic
(a) Imaginative  (b) Sprightly

{c] WVivacious {d) Abusive
56. Candid

la) Kind (b} Courteous

{c) Generous (d) Frank
57. Profane

(a) Assert (b) Benefit

[c) Lengthen {d) Desecrate

(D-11)

101
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58. Interpolate

ja) Clarify (b) Investigate
[c) Reverse (d} Insert
59. Nadir
fa] Asylum (b) Heaven
fc] Lowest point (d) Zenith
Directions (60-64) : Choose the

alternative that is most nearly opposite in
meaning to the given words. '

60. Fiasco
{a) Success (b) Joy
{c) Fun (d) Disaster
61. Confident
(a) Imprudent (b} Impatient
(c) Diffident (d) Reluctant
62. Mammoth
a] Significant (b) Small
(e} Unruly (d) Noisy
63. Engrossed
a) Occupied (b} Inattentive
jc) Engaged (d) Absent
64. Altruistic
(a) Selfish (b} Inhuman
(¢} Brutal (d) Wicked
Directions (65-67) Choose the

alternative which best expresses the meaning
of the given idioms/proverbs !

65. To leave no stone unturned
{a) to keep clean and tidy
(b) to try utmost
{c] to work enthusiastically

(d) to change the things

(D-

101
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Through thick and thin
(a) big and amall
(b) large object

{c) under all conditions

(d) thin and fat

Il at ease
(a) Restless (b) Worthless
{c) Listless {d) Sleepless

Directions (68-70) : Out of the given

alternatives, choose the one which can best

be

substituted for

the given words or

sentence.

68.

70.

One who cannot be corrected.
(b) Incorrigible
(d] Invulnerable

(a) Incurable
(e} Hardened

One filled with excessive and mistaken
enthusiasm in a cause.

(b) Patriot
(d) Martyr
An office with no work, but high pay.

a) Pedant

(c) Fanatic

(a) Honorary (b) Sinecure
[c) Ex-officio (d) Reticent
fder  (7175) : Fr=fefes 4 @ g=
T T W8 BT FqUT P
71. (a) fawergmo (b) Taweras
() faweryer (d) foreeror
72. {(a) AT (b) ¥IITOT
(c) Sgeg (d) A
73. (a) wWieE (b) eI
(c) wmEfcas (a) wrfEfeas
74, (a) TEEN (b) dfgwEr
(c) @ErEHN (d) afEwpr

12)


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addai247

75. (a) TerEiSTedl (b) fererrarel!

(c) feremarier (d) foeerwt

fAdwr (76-80) : F=feifta e wiEl &
o0 7 = W Ry M0 et 4 @ gH-
76. e w99 90 A 8-

(@) s (b) it

(c)  amwferT (d) e

77. € GOSN 9 W9 Y a9 § U
dred 8-

(o) TR (b) e

(c) VI & (d) 3TVTE
78. Wl ¥F BN &G BT 8-

a) WIS (b) TR

(e) ST (d) fEdr
79. fo® sR—uR @ 9 HH—

@) gXEHl (b) e

(¢) Ted (d) s
80. g H To1 Wik—

(a) HFS (b) TR@

€ % () o

o (s1-s2) : Fr=fofes Hemi/
drpitedl @ o 9 e Ry MY fwedt 7§

T4
81, TR P 4R W TEAT & I B
(a) ST BT
(b) GRIAE @R &
(c) gt @A
(d) HEA T BT
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82, ‘BT & e @ aref B

(@) G5 9%
(b) YR A

(c) W&l T

(d) AN T

frdw (83-86) : fr=afofes amawor =
ot e @ fEmreER 8 f{y e e 9
¥ gfo-

@ ae fore awg @ €, oW 98 9Ed
g WAl 8 T4 99 awg @ Wi, Wi ar
FUHET [ S TE Wwar | Ay W € oaw
FR-AR el a7 swEe fear @) ew @ Em,
g T B e § wm ww oo 2 o9 wifty
M 9T o AR wify # gEsT W g IEd
2, v w9 war o o uifls & e
W fagm wew 8 R 98 & 999 & 99,
foer & 909 9 o= B9 @, 99 @ o
& T8 WMo SHST 9N e el
FIaEg TEal ¢ 999 e @1 & 98 91 6l
€| THaAE, sME—dheddl 9 9 §9 o, o
fog el 4 o8 ewE—aegw @RS 81
ol €, g @ Swer A w6 F9 @ foy g
oTar 2| 9 e dwew T owwer @ @
R 7 9 TEHe FIE WE B B 59 H
Hey wifcad oiad @1 S g T 8|

83, TENY & wel e 8-
(a)
(b) EF-EM
) TN SN ey
(@) m 3R o
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84, WIW T FWH Wad IFHEAY w4l ffce (87-88) : FAfafEa W=l &
E R ? waredf e w1 gwe 99e Ay Ty fAwed §
(a) TE Hiica® wigd Wi+ oTdl & F Pifoy —
b) freeT & So ¥ we B9 @ e | 87
T AR TE Ferar (a) TEmaT (b) TTEH
(c) @™ @ Iff 89 T8 @S v (c) waF (d) AT
o1 WISy Y o 2 g, =i
@ e & o9 9 9% v & @ @ REER (b) SEP
[
85, Wifead Wigs &7 o7 9 wer AT & 7 @ = @
' | ' frdw (so-00) : frafafum weEl &
(@) - (b) WS frem W= T T9F 999 fav T et § 9
(¢) URIgER (d) e -
86. WA W gew ® g@ " T § 7 89. WA
(@) @ @ off F W @ g AT (a) gTa (b) T=HA
e © e () Ve
(b) € WISl 5 B9 & g HEA T # 50, Wfe
() Yy € FT g A T R (@ RO (b) S
(d) SME-FETT W T W AW o afe @ e
T #
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W4 TP AP T8 We YRaPT @ier BY 7 HEl WY 99 TP 7 @le |

g HE&T qRkTeT e

STBAID : D

fruffRa g : 2 e IRFTH 3F : 90
et @ forg fder

1. ofer g6 89 @ qew 99 et 78 gfiften aw o 5 a5 we-gRee g9 16 yRi # B @
Mﬁm%aﬁmm&gﬁﬁ%mwﬁﬁmmmaﬁﬁﬁjﬁm%
ol 59 A HEer At wee-gRae ¥ 189 Wl e |

2. HGH YT AT TE-gRae § SR Ry T we A w8 T aRiRe we-gike w®
7o 4 7 fod AR D yeR &1 aFaegs e [ |

3. Rl 7 oo e ™ OMR Sheet # qifon geemt PRy o ® war 4% &89 9
of A ¢ R RN wER 7 araeas (wE T@ @ 8| srewd A OMR Sheet w
I ¥

4, wd sw-fftd & @ fa Feife @ T @ @@ @ e dede 3 ER W UF W aRe
e @ Rfe 7 &) v ¥ 9fe e B e @ w0 A Rt v W 99 I # T A
IR |

5. 30 yE-yhas & § sl 4 o= @ e 7 @ | wfeweT, OMR SIR-1 @ 79 de@ @
it ¥ | onvs! Wi © 9% FeE-gRasr §T WY o W @ AR &

6. T ye-qRaw § @@ 90 ¥ € | UG UE & 41 1 9% €| Mo S @ g ®i 3F wl
FIe A |

7.  WWA 3, W, a0 SRR @ ved e ud sl < A E | afk sl A g R
v SR wwe el argae § a1 M 8, o suen A g v € e e

8. ¥ TR # W @14 & fow 9 gw= 9 M #

9. ol sy ¥ dugecy, W 9/9S, AAEE B ¥ua FeHRe SHRN WY § e W
TEE ST B AR B

10.  awdfTo 56 @2 & o1gTa ¥ fF OMR Sheet @1 geaied gedgv@ wH w1 g & & |
37799, OMR Sheet W e &1 w8 @09 § ¥ orgur e 0@) T8l 98 w S Fedie
T8 Tx A | 59 FEw @ s o q o @ s § ol g ford e freaw
e |

Note : English Version of the instructions is printed on the First Page of this Booklet.
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